

			т	abulation of B	ids			Page 1 of 4
Contract ID: 4273H41416SBR				Counties:	BALTIMORE CO	UNTY		
Letting Date: October 02, 2014				District(s):	4			
C	all Order: 4	405		Project(s):	N/A			
Contr	act Time: 7	12/31/16 COMPLETION D	ATE	Min:	Max:			
Contr	act Descrip	tion: Median & Roadside Area in Balitmore C			-up at Various Lo	cations in the H	ereford Shop	
Line No / Item ID Item Description		(1) LETKE SECURITY CONTRACTORS		(2) H & O CONTRACTOR, INC.		(3) EXPERT LANDSCAPE MANAGEMENT CORPORATION		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	4273h41416SBR	Cat Al	t Set:	Cat Alt Member:		LCC:	
7001	700000-AC	50.000	50.00000	2,500.00	100.00000	5,000.00	100.00000	5,000.00
. LITTER	PICKUP	AC						
7002	700000-LF	175,000.000	0.20000	35,000.00	0.09000	15,750.00	0.12000	21,000.00
. TRIMMIN	NG	LF						
7003	799005	1,000.000	50.00000	50,000.00	80.00000	80,000.00	86.77000	86,770.00
MOWING		AC						
	Section T	otals:		\$87,500.00		\$100,750.00		\$112,770.00
	Life Cycle C	Costs:						
Sectio	Section Total with LCC:			\$87,500.00	1	\$100,750.00		\$112,770.00
	Contract Item Totals			\$87,500.00		\$100,750.00		\$112,770.00
		Contract Time Totals						



	Tabulation of Bids	3	Page 2 of 4
Contract ID: 4273H41416SBR	Counties: BA	ALTIMORE COUNTY	
Letting Date: October 02, 2014	District(s): 4		
Call Order: 405	Project(s): N/	/Α	
Contract Time: 12/31/16 COMPLETION DATE	Min:	Max:	
Contract Description: Median & Roadside Mowing, Tr Area in Balitmore County, West	. .	o at Various Locations in the Hereford Sh	ор
Contract Life Cycle Costs Totals	\$0.00	\$0.00	\$0.00
Contract Grand Totals	\$87,500.00	\$100,750.00	112,770.00
) indicates item is bid as Lump Sum			



			 T	abulation of B	ids			Page 3 of 4
Contract ID: 4273H41416SBR				Counties:	BALTIMORE CO	UNTY		
Letting Date: October 02, 2014			District(s): 4					
Call Order: 405				Project(s):	N/A			
Contract Time: 12/31/16 COMPLETION D/			TE	Min:	Max:			
Contract Description: Median & Roadside Mowing, Trimming & Litter Pick-up at Various Locations in the Hereford Shop Area in Balitmore County, West of I-83								
Line No / Item ID Item Description		(4) MCLEOD CLEAN CLEAN AND LAWN	ING SERVICE					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	4273h41416SBR	Cat Al	t Set:	Cat Alt Member:		LCC:	
7001	700000-AC	50.000	432.00000	21,600.00				
. LITTER PICKUP		AC						
7002	700000-LF	175,000.000	0.27000	47,250.00				
. TRIMMING		LF						
7003	799005	1,000.000	100.00000	100,000.00				
MOWING		AC						
Section Totals:				\$168,850.00	l de la constante de			
	Life Cycle Costs:							
Section	Section Total with LCC:			\$168,850.00	1		1	
Contract Item Totals Contract Time Totals				\$168,850.00				



	Tabulation of Bi	ls	Page 4 of 4	
Contract ID: 4273H41416SBR	Counties:	BALTIMORE COUNTY		
Letting Date: October 02, 2014	District(s):	4		
Call Order: 405	Project(s):	Project(s): N/A		
Contract Time: 12/31/16 COMPLETION DA	ATE Min:	Max:		
Contract Description: Median & Roadside Area in Balitmore C	e Mowing, Trimming & Litter Pick- county, West of I-83	up at Various Locations in t	he Hereford Shop	
Contract Life Cycle Costs Totals	\$0.00			
Contract Grand Totals	\$168,850.00			
) indicates item is bid as Lump Sum	I		I	